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>> Fs=8000;

>> r=—1+2+rand (64,1);

>> rr=repmat (r,125,1);

>> soundsc (rr,Fs)

>> plot (log(abs (fft (rr(1:512) . hann(512)))))
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>> sound(s*5, fs)
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fun

out
for

end
end

ction output = fuzz_trans( inputSignal )

put=zeros (size (inputSignal));
iSignal = l:length (inputSignal),
s=inputSignal (iSignal) ;
signSignal = sign(s);
s=abs (s);
if s >=1/5,
output (iSignal)=signSignal;
else
output (iSignal)=signSignal«* (5xs);
end
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’>>

plot (fuzz_trans(g)); ylim([—1.5 1.5])
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’>> plot (—1:1/100:1, fuzz_trans(—1:1/100:1)); ylim([—1.5 1.51)
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>>
>>
>>
>>
>>
>>

Fs=8000;
t=0:1/Fs:1;
s440=sin (2xpi*440xt);

f440=fuzz_trans (s440);
subplot (2,1,1); plot((0:49)/fs,£f440(1:50)); ylim(
subplot(2,1,2); plot((0:49)/fs,s440(1:50)); ylim(

[-1.5 1.5]
[-1.5 1.5]

)
)
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’>> plot ((0:511)*Fs/512,log(abs (f£ft (£440(1:512) .xhann(512)'))))
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function output = nonlinear_test (inputSignal)

output=zeros (size (inputSignal));
for iSignal = 1l:length(inputSignal),
s=inputSignal (iSignal) ;

signSignal = sign(s);
s=abs (s);
if s > 2/3,
output (iSignal)=signSignal;
else
output (iSignal)=signSignalx* (—9/4%s"2+3xs);
end
end
end
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